MFJ- 1740
I NSTRUCTI ON MANUAL

Thank you for purchasing the MFJ-1740 1/4 wave antenna. The MJ-
1740 is designed for use on 144 to 148 MHz. However, sinmple trimm ng

of the
band, o

radi ator and radials will yield a 1/4 wave antenna for 220 MHz
r a 1/4 wave antenna for 440 MHz band.

The MFJ-1740 is shipped partially assembl ed; you should have re-
ceived the foll ow ng:

I[tem Quan. Descri ption
A 3 Radi al s
B | Chassi s
C 3 6-32x1/2 screw, | ockwasher & nut
D I Cl amp assenbly

ASSEMBLY INSTRUCTIONS

Step 1: - Refer to figure-1. Insert the | ockwashers over the 6-32

S
S
t
S
t

Step 2:

STEP 3:

crews. Insert one of the three 6-32X 1/2 screws through hole 1 and
tart a 6-32 nut on the screw. The screw should be installed so that
he nut is on the inside. The three remaining screws and nuts

hould be installed in the chassis in a |ike manner, with one screw
hrough hole 2, and the other screw through hole 3.

Now you are ready to install the three radials. First
position the chassis as shown in figure-2. Then insert a radial,
straight end first, into hole A. All radials nust be inserted
through fromthe inside of the chassis. The hooked end of the
radi al can then be fastened using the screw in hole 1.

NOTE: When installed, the radials should enmerge from
the chassis at a downward angle away from the
radi ator. NO BENDI NG | S NECESSARY.

The two remaining radials can be installed simlarly.
One radi al should be inserted through hole B and secured with
the screwin hole 2, and the other radial should be inserted
t hrough hole C and secured with the screwin hole 3

Assenbl e the clanp in the chassis as shown in figure-2.



MFJ- 1740
| NSTALLATI ON | NSTRUCTI ONS

The MFJ-1740 can be nounted onany 1" to 1-1/2" tubular nmast. The
mast may be a conductive (metal) or a non-conductive (pvc)
materi al ..

VWARNI NG DO NOT MOUNT ANTENNA NEAR POVWER LI NES
Deat h or serious injury can result.

For optimum performance the antenna should be mounted as high
as possible. However, if the mast itself is |located on a high
el evation, such as a hill or nmountain, the need for a tall mst wll
not be as critical.

To mount the antenna on the nast, insert the mast into the
clanp as shown in figure-2. Confirmthat the mast is nmounting on
the front of the chassis, as shown in figure-2.

The coax from your radi o nay nowbe connected to the antenna.

The connector is an SO 239; so the connection should be fast and
easy.

TUNI NG | NSTRUCTI ONS

The antenna has been preset for | ow SWR through the 2 nmeter band.
However, SWR can change from place to place; so sone adjustnent m ght
be necessary.

After installing the antenna, check the SWR For operation
.throughout the 2 nmeter band, the SWR should be | owest at 146 Mz.

If the antenna needs to be adjusted, |oosen the radiator retaining
nut (see figure-2). If the SWRis |owest on a frequency above the
desired operating frequency, lengthen the radiator. If the SWRis
| owest on a frequency bel ow the desired operating frequency, shorten
t he radiator.

Be careful when tightening the retaining nut on the radiator. If
the retaining nut is too tight the ceram c insulator my be danaged.

CONVERSI ON | NSTRUCTI ONS

READ ENTI RE | NSTRUCTI ONS BEFORE ATTEMPTI NG TO CONVERT YOUR ANTENNA

To convert the MFJ-1740 to a 1/4 wave antenna for 220 MHz, the
radi ator should be trimred to a length of 12 inches, and each radi al
shoul d be trimed to a length of 12 3/4 inches.

To convert the MFJ-1740 to a 1/4 wave antenna for 440 MHz, the
radi ator should be trinmed to a length of 6 3/16 i nches, and each
radi al should be trinmed to a length of 7 1/ 16 inches'.

| MPORTANT NOTE:

To find radiator length, neasure from the tip of the radiator to
the top of the radiator retaining nut. Leave approximtely one inch
of threaded radi ator bel ow the retaining nut.

Measure the radial length fromthe tip of the radial to the
center of its 6-32 screw




Radiator
- ,Retaining Nut

¥

g Chassis (B)
0 e
|
1%
FIGURE - 1

Radial (A)  Clamp Assemtly (D)

6-32 Screw & Nut (C)

FIGURE - 2



